1 e () ;o ) g A
syt 3 forg 1 3 s S Y
ST & M w3
e omTeft T e @ el |

FROT (%) : T FaH A0 T AMB
¥ yfaEdd: s #1 W
e | ,

(1) () 3R (3) I UF T ATA 8
T (), (31) HT G =T T
HFAE |

(2) (¥) I & 90 (9) IR |

(3) () 3EA R U (9) T & |

(4) (37) 3 () O o &9 & H &
I (F), (31) N ad @ FA R |

Tt o S 8§ @da qur et Ik
FFERI A qw §

g HY e @ -

(1) 97 & drgomys

(2) .9 ARmBRT i Gty g
(3) & T Hve Figae i

(4) ST % wAfamem §

|
i'
!
|

A fEme B oy T
AP T HeNETES IR TR g |
U1 1 @ T ST Heher & 7 |
(1) 519 317 o |
(2) . ATHiferT 317% dgam |
3) a . -
(4) Taferm a1 siem ¢ ;‘
“vifth Tk HHE- (Deference-valile) l
2 3 Torife e 1 sad ufie gey |
21" 7 fram 2 g ¥ e |
(1) e vae ;

(2) 2fae & .
(3) =med §. Afem Ef;rf |
(4) ce e !

1.

Assertion (A) : For g pq, .
exercise of the authori?yng?gfu]
state, the laws ang the
the state must be bag
moral beliefs and va]
of the people.

Reason (R) : For thig, ¢
must ensure the comp
the laws by its citizeng

(1) Both (A) and 4,5 J—-
individually true but (R) i noi
the correct explanation of (A,

(2) (4) is true but (R) is false,

(3) (A) is false but (R) is trye,

(4) Both (A) and (R) are indiVidua_uy
true and (R) is the correct
explanation of (A).

ed on the
ue S}’stem

he stage
hanCe of

The statement “All human

beings are born free and equal iy

dignity and rights.”, is given in :

(1) SAARC declaration

(2) Universal Declaration  of
Human Rights

(3) Social Contract by Rousseau

(4) Leviathan by Hobbes

Which thinker can be considered
as the messenger of the advent of
the modern state and envisioned
the role of the League of Nations ?
(1) John of Paris

(2) Marsilius of Padua

(83) Dante

(4) William of Occam

“Power is a Deference-Value and
Political Science is closely related
to it.” Which scholar has given this
view ?

(1) Lord Acton

(2) David Easton

(3) Charles E. Merriam

(4) Harold Lasswell

01

OI‘ders of

01

Rt mevy % s % EERIECH
T 3 i o A o % o
%WWWWI

“B, I S £ o S E /A
Al wr R A oA %
YT & g 7 HrRiTer HE |

(1) ot Frerar % wry

@) FremEs

(3) #eEs

(4) ot T @y

IR B AwE F FrafeT-87 543 %9
gg7

(1), 1967%
(8 19714

(2) 1969%

(4) 1962%

YRA % HayH % 3. 51 F (F) F

AT ST TG 61 e 2 —

(1) wiqum geeEt & gerers gaelq

(2) Hfau™ %1 qem

(8) wfaum =1 gerrensh faiy

(@) siga W sk men &
| afiefy

= & @ forg fomr 3 w1 & a9

HiguH S0 T vt ¥ Pl %

T HIETHR § 1 I T 1 7

(1) "R

(2), &, TSI

(3) .8 98

(4) Tfae e

w

@

Select the correct option to fill in
the blank in the following
constitutional format of the
Presidential Qath.

“I, A.B. do swear in the name of
God/solemnly affirm that I will
execute the
President.”

(1) with full qualification
(2) sincerely

(3) faithfully

(4) with full sincerety

office of

The number of Lok Sabha
constituencies is 543 in India since -
(1) 1967 (2) 1969
(3) 1971 (4) 1962

According to Article 51 A(a) of the

Constitution of India, it is the duty

of every citizen —

(1) to
Constitutional amendments.

(2) to abide by the Constitution.

(3) to the
Constitution.

positively support

creatively criticise

(4) to promote international peace
and security.

Who among the following
commentator said that “Indians
did not default their tryst with
destiny” while making their
constitution ?
(1) Minor Winner
(2) C.Rajagopalachari
(3) K.T.Shah
(4) Granville Austin
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9. o 1 Ym vt a¢ FEgd T
a8 —
(1) 3 e
(2) o= g
(3) ¥iftg SraTaa
(4). TG T

10. “¥7=9g 20 Ud IFeWE 21 ¥ AW
iR TS § i T8 e o
THd ¢ I i S A S A HFFAIE |
TEYH % e d wE § ¢
(1) 243 Hfqum gaieT @ 78 wEuE
=Y R |

(2) 429 HRYR wwiem & 78 yEuH
T fefam |

(3) 449 Hfeym w¥iwa ¥ 78 yraumw
W:Rﬂﬁﬁﬁa_ﬂTWl

(4) W99 3% 3 & 78 W= 2 |

11, S 3 S 3 e o 1 0 5 s | 11

Hﬁﬁmaﬁ?mmmmé?
(D)-38 FFR N it = i
W%mﬁaﬁa@,

@ Q@Wﬁ%aﬁﬁ%mﬁ-ﬁ
Nﬁmﬂa:ﬁﬁmmgm,

(3) Wﬂ%ﬁmaﬁaﬁ;ﬁﬁﬁl
) éﬁmﬁ@a&h%mﬁgﬁ
R H0 T |

10.

Who presented the firgt ‘Gend
er

Budget’ in Rajasthan ?

(1) Ashok Gehlot

(2) Pradhyuman Singh

(3) Bhairon Singh Shekhawat
(4) Vasundhara Raje

‘The fundamental rights of Article
20 and Article 21 cannet be
suspended in emergency.’ Whic, of
the following is true with respect tq
the above provision ?
(1) This provision was inserteqd by
24th constitutional amendment,
(2) This provision was inserted by
42 constitutional amendment,
(3) This provision was inserted by
44 constitutional amendment,
(4) This provision is there from
the very beginning of the
Constitution.

Which statement explains the

Directive Principles of State Policy

mentioned in the Indian

Constitution ?

(1) Certain rights that citizens
should enjoy apart from the
Fundaments] Rights.

(2) Those objectives that we
should necessarily adopt as
Individualg,

(3) Mandatory policies for the
government,

(4) Those goals that we @a$

individualsg should adopt.
01

13.

01

12. ¥R Gfqum & agede 51 & aftg

"SI it ot e B sfrgfy ¥
TS 93 i |
T wer # wehi-1 B geh-11 @ it
i |

11

T
A, 51(H) (i) wnfea @ %
Th g
ZagRl #
IR fafy
Saf-
srearst & wfq
TG TG
(i) TgH ==
ARET 3R
1 SR TE H
(i) 3Taisa wrife
TR gran i
FfEfg =
(iv) FRTE faamet
& TR g
Fraen & fere
TICHTE 3 1

B. 51(®)

C. 51(m

D. 51(m)

R

A B C D
M-Gi) 1) @) (v
(2 (v) (i) @ @)
3 (v) @) @ (i)

4 © @) @Gv) @)

Y g Y g g F s
TEwl &) GE&T 6 ¥ §gT 10 fopw a9 1
H 7

(1) 1960 (2) 19651

(3) 1972 % (4) 195273

12. “The state shall endeavour to
promote international peace and
security” as specified in Article 51
of the Constitution of India.

Match List-I with List-II with this

reference.
List-I List-II

A. 51(a) (i) foster respect for
international law and
treaty obligations in
the dealings of
organised peoples
with one another.

B. 51(b) (i) maintain just and
honourable relations
between nations.

C. 51(c) (iii) promote international
peace and security.

D. 51(d) (iv) encourage settlement
of international
disputes by arbitration.

Codes:
A B C D
(D G G @ ()
(2 G(v) (i) @) @)
3 Gv) G) () (@)
@ @ G @Gv) @)
13. In which year the number of non-

permanent members of UN
Security Council was increased
from 6 to 10 ?
(1) 1960 (2) 1965
(3) 1972 (4) 1952

-
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. iolo .
ho divided soclo gy in ,
14. gatics and social dynamieg 9 Socig)

: S |
14, fre R 1 A l (1) Johnson (€)] BOttomore

. The G-20 Leaders’ Summj; i
scheduled to be held on g and
10 September, 2023 in New
Delhi.

16, Frafie Foi %) gy ey :
I Sf1-20 JaraT %1 PR g8ed 9

T e ﬁm% ? i (3) Maclver (4) COlnte
(1) e (2) @R J ‘
(3) BeTER (4) FR | 15. What dO,\g/e call ‘the web of Socia]
relations !
15. ‘gmifae a=il ¥ w0 H o T ! (1) Institution (2) Society
. o [’ (3) Association (4) Community
(1) = (2) TEN 116. Read the following Statements
(3) afufa () TEE I carefully :
l
|
|

II. India  will

assume e
Presidency of the G-20 from 1

3R 10 frmm, 2023 F1 7 feeeh

|

A _ﬁmw% ' ,, December, 2022.
II. ywa 1 fewsw, 2022 § A-20 &1 | III. G-20_comprises 19 countries
STEFETAT GHTENTT | ! and the European Union (EU),
o = IV. G-20 accounts for 85% of
[II. f-20 7 19 3w 3R T 5o | global  GDP,  75% = of
(3.7) miter & | international trade and two.
IV. F-20 s et =7 85%, .thirds of the worlfi population.
N §ﬁ'ﬂ1 (Yggg?t :;)f the following option is
1 T 1 2 foreTd e & 2 (1) Statements I, II, IIT and IV are

Freeferion # 4 2 a1 e w2 7 ol

. 2) Statements I and III are true.
(1) FFLIL 3RV e § | ( ents I and TIT are true

2) FHIMM M a3 |
(3) FHIMIVaTE |

|
|
]
i
!
!
I
|
j (3) Statements II and IV are true.
|
: /
@) FELOIARNI TS | | 17. Brettonwoods Conference — 1944
|
|
]
|
j
|
I
|
|
!

(4) Statements I, II and III are
true.

financial institutionsg ?

led to the establishment of which
17. SET959 T9e9-1944 § fy forfr

(1) Internationa]

dearas Bank for

& WWFW?HT@W 97 7 Reconstruction and

(1) }FR%F{T W g % firm ST Development  and  Asian
e b - ?evelopment Bank.

, TR S . nternational Monetary Fund

@ WQEEW BN T ofme and Asian Development Bank.

(3) International Monetary Fund
and G-7

(3) mﬁgﬁa@m@;ﬁ_7

: 4) Internat.ional Bank for
(4) 3;,—[;,-_" w fEm 3 fora e €construction and
I s F—, evelopment and
International Monetary Fund.
6
01

e re——

18.

19.

20.

21.

22,

23.

24.

01

JOM- RS 50N 17 NE

et ettt e 1 st =5
ST e e T B e 7
(1) 3o, s

(2) W

(3) firfm

(4) = g5

“Teh FIfSTR = &1 et o
Wqﬂf@ﬁﬁ?;mwwvﬁfm%,
Rt sq8 amm 6 I ' 1
g & 8 -
(1) Tes fofes
(2) fereer gm
(3) st goea
(4) 3forme wa Af@
wig fiftem @ fore A9 gsw g
aReTfyd T T W Yo 9 w=h %
-0 T HE T EHar
T@AT 2 hEelTl & —

(2) 4i@Er

(1) 99g™
(3) g (4) Tfufa

T forame = fopmr wpm 3 7 < wraT- e

gmﬁaﬁmw%q@mrﬁ
?

(1) Yo faamz

(2) Tud faams

(3) & famme

(4) v foamg

18. Who used the concept of primary
group in  his book “Social
Organization” ?

(1) W. Ogburn

(2) Sumner

(3) Giddings

(4) Charles Cooley

19. “A social role is a pattern of
behaviour expected of an
individual in a certain group or
situation.” This definition is given
by —

(1) Ralph Linton

(2) Kimball Young

(3) G.A.Lundberg

(4) Elliott and Merrill

20. “A group defined by a sex
relationship sufficiently precise
and enduring to provide for the
procreation and upbringing of
children” is called —

(1) Community (2) Family
(3) Institution (4) Association

21. In which form of Hindu marriage
neither consent of parents is
necessary nor are the rites ?

(1) Prajapataya Marriage
(2) Gandharva Marriage
(3) Dev Marriage

(4) Brahma Marriage

22. Which one of the following is not

= 5 4 F9 @ e Wew
fo gt i R 2 '
(1) TraEmR

(2) ATEIEIRERT

(3) &=ar]

(4) feramg

‘T 39 T e fora & —
1) fEnfFE (2) Yo e
(3) &, arE (4) @ AT
TG T THCIhE EHIE % qf
TR 8 | 7% fope Seeifiaad fpan 2 2

(1) gEta (2) 9=
(3) et T (4) TS

: the challenge for the national

| integration ?

| (1) Urbanism

| (2) Communalism

i (3) Regionalism

'; (4) Casteism

! 23. ‘What is Sociology’ book is written
, by_
| (1) P.Sorokin (2) Alex Inkles
; (3) T.Parsons (4) Max Weber
|
|
|

24. Who mentioned the Gemeinschaft
and Gesselschaft are two types of
society ?

(1) Durkheim  (2) Weber
(3) Karl Marx (4) Tonnies
7 *
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30. =14 @ B € v wmfves gied 6

25. yfy 3§ H=UEE WENER Ry fead ’
9 TR IR ?
() FREWY (2 TR
(3) fegmm 9 (4) foam 9

s 1 78 v Rl s et A

Iy fam, 3y, gfEnR, an, =qdrd,

i @ IyatRE Il & wewEd

TH AT B, FEOTA @ —

(1) wrRrf (2) WIS ST
@) I (4) s

27. e wiRufe A SEEROT & E ~

(1) smE.FE (2 8.t

(3) . uREH (4) *. 3\

28. et 37T T o SfeA g ol @ -
(1) T Fet
@ e g
(3) WK
(4) T oo |

29. “wESEITE! €M % A g dr @y | 29,
g Heul ¥ 8 | 98 $ad TR
(amfss dewl) o gfed € AR &
TR TREd H8d 3 |7 HH § —

26.

217.

28.

(1) T d=e

(2) FFER T I |

(3) fifemafifem e
(4) Si~= Q

30.

Tersyen = 2 2
(1) e ey |
(@ wmfvs o @i s |
vt 2 | |
(3) % T F W iy ) I
7Tfe - T TE R | |
(4) ot e ety

T EEEE—

| 25.

26.

When is the Internationg)]
Corruption day observed
year ?

(1) October 9 (2) Novembe, g
(3) December 9 (4) Septembe, g

Position ~which the indivj g
occupies in the group by virtye o
his sex, age, family, closg
occupation, marriage and
achievement is called —

(1) Status (2) Social Systen
(3) Society (4) Role

Antj. \

eve ry

The concept of “Key Status® ig
given by -

(1) RK.Merton (2) E.T. Hiller
(3) T.Parsons (4) K. Davis
“History of Caste in India” book ig
written by —

(1) S.V. Kelkar

(2) G.S. Ghurye

(3) Bottomore

(4) Herbert Risley

“Our direct concern as sociologists
is with social relationship. It is the
change in these which alone we
shall regard as social change.” As
quoted by~

(1) Robert Bierstedt

(2) Maclver and Page

(3) Gillin & Gillin

(4) Jones

Which one of the following is not the

characteristic of social change ?

(1) Social change is universal.

(2) Social change is natural and
Inevitable.

(3) Speed: of social change is not
the same in every society.

(4) Social change is related with
individua],

01

31.

32.

33.

34.

35.

01

TTH A T g1 U gewred o1 A e R 7
(1) g=FR Q) ard
(3) e (4) ud

|
!
|
= o T v Y l
I BT AW AGH %
1. ﬁi a. U Fd |
AATTZH |
2. Bf@wes b, IS |
it 31 |
HEl |
3. Ehams . |
T AR !,
4. Tt %
AT :
Hsfe
1) 1-¢, 2-b,
(2) 1-b, 2-d,
(8) 1-a, 2-c, 3-d, 4-b
(4) 1-d, 2-c, 3-b, 4-a
YT T &9 SR %1 &3 7 3N 98
Tfifer Y Sogasht F e A TR 1
Tg Fu FrasT R 2
(1) & ¥
(2) T foeem
(3) ww.E. =
(@) % TS
Ty FA 6t Tghe fee amen St
Teh & fora ot reft oft 7
(1) wfee
(2) YRR
(3) et
(4) wTEETRISAT
;{é@h H T H srumon R

?
(1) 3o 3fer=
(2) T §heH
(3) i firat
(4) TR TR

% WA, HUTSAT

d. fee 7y

4-d
4-a

3-a,
3-c,

31. Which one of the following is not

32.

1

2.

3.

4,

T et

the element of Purushartha ?
(1) Sanskar (2) Arth
(3) Moksha (4) Dharma

Match the following correctly —

Name of Book Author
Hindu Social a. Irawati
Organisation Karve
Marriage and b, Westermark
Family in India
History of €.
Human
Marriage
Kinship
Organisation

K.M.
Kapadia

d. P.H.Prabhu

in India

(1) 1-¢c, 2-b,
(2) 1-b, 2-d, 3-c, 4-a
(3) 1-a, 2-¢c, 3-d, 4-b
(4) 1-d, 2-c, 3-b, 4-a

‘The field of administration is a
field of business and it is removed
from the hurry and strife of
politics., Who made this statement ?
(1) Henry Fayol

(2) Woodrow Wilson

(3) L.D. White

(4) Frank Goodnow

Santhanam Committee was
appointed for prevention of which
problem ?

(1) Casteism

(2) Corruption

(3) Poverty

(4) Communalism

3-a, 4-d

Who gave the concept of ‘Culture
of Poverty’ ?

(1) Ivan Ilich

(2) Alex Inkles

(3) Morris Ginsberg

(4) Oscar Lewis
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36, frfirfias g @ & frg o 1 50T
& frgrl %) o a1 FEEA F

Tyt fRaT T ?
(1) geu e
(2) 7 T AHHA
(3) wiie 3. femis
(4) IR ITE. TE

37, 4% wu Feger 2, wEEE @wel &
oA wYE % fod AEeE
qedl /el gen wEEE 39 H

HAETIRAT I 2° ?

(1) ﬁﬁ-w b a0y
@) o9 et ﬁﬂ
(8) & Hae
(4) Tyferek

38. fefafed # & o7 @1 @& = ¥ W
# AR duel b FEEHA TEITH
Ry FTEd Fa 2 ?

AT~ HATTAHATE

SHferes /Imifter sevasant

TS qUT 3 H SIS

HATH-FH i IHTFFRATE

E. g sravrsan

(1) A-D-C-E-B (2) B-E-C-D-A

(3) B-E-D-C-A  (4) A-B-C-D-E

39. fafafgs & & #1 % wme >
FrSHId o 1 quefs T R 7
¢)] Fi?ﬂ'ﬂf?*ﬁ
(2) T, 3w
(8) fer afew
(4) 7 S
40. J EY ATF IR iy
T fpgy foraht oft 7 &
(1) ToTEe ameey
((2) Eifit-n‘sq?{ém
3) THEs,
(4) TR TRA

Sow

+

P

poss (1)

36. Which one of the S"h?l{irs rejecteq
the principles of admmlstratic,n o

‘myths’ or ‘proverbs’ ?
(1) Woodrow Wilson

(2) Herbert A. Simon
(3) Marshall E. Dimock
(4) Chester L. Barnard

37. Who stated that ‘A human Problen

. to be brought to a human solutjoy,
requires human data and humay
tools’ ?

(1) L.D. White

(2) P.H. Appleby

(3) Henry Fayol
== (4) Roethlisberger

‘38. Which one of the following is the
correct sequence of Maslow’s Need
Hierarchy from the bottom of the
hierarchy upwards ?

‘A. Self-Actualization Needs

B. Biological/Physiological Needs
C. Love and Belongingness Needs
D. Self-Esteem Needs

E. Safety Needs ’
A-D-C-E-B (2) B-E-C-D-A
(3) B-E-D-C-A (4) A-B-C-D-E

|
|
|
|
|
|
[
|
|

10

4

£

Who among the following is NOT a
supporter of POSDCORB view of
Public Administration ?

(1) Luther Gulick

(2) L. Urwick

(3) Lewis Meriam

.. (4) Henry Fayol

Who wrote ‘The Science of Public
Administration : Three Problems’ ?
(1) Dwight Waldo

; (2) Herbert Simon

.~ (3) F.W. Taylor

(4) Robert Dah]

01

a1, = E Y e s g e

T R 37 FHefipa TP R 2 %
(1) e @ I I
(3) IvamEw (@) femmm |
42, IMOn Y wemEnm REmemw % %
gftaTes ® & ?
(1) e T
2) Ra fawd
(3)- Bgen
(@) fsm
43. FTHITET MW 3 3971 Sfeaed e G
o7 ?
(1) 1984 (2) 1987
(3) 1988 (4) 1983

JOIN- RSGIONLINE

41. Which of the followings is the most

centralised  type of formal
communication network ?
(1) Chain (2) Circle

(8) Grapevine (4) Star

42. Who propounded the expectancy
theory of motivation ?
(1) Douglas Mcgregor
(2) Rensis Likert
(3) Maslow
(4) Victor Vroom

43. When did the Sarkaria >
Commission submit its report ?
(1) 1984 (2) 1987
(3) 1988 (4) 1983

44. What is the title of 12t» report of ¥ i

44. frfm wwmafe gur smam #1236
o = i = o 2
(1) Tehe JaY
Q) Aries-hEa e
(3) firammen § e
(4) =1 H AREEHR

45, TN WNTEM guR W A T
it e fordl & 7
(1) 58 (2) 18 -
(3) @ (4) W'

46. M@ foed & IgER Fm d 3 w9 @
YRR YO} AT § ?
(1) wewmit avg
(2) GeTEHRI
(3 feasdt
(4) v T

47. SETcAs BRAARM THAE % I
f-’m;ﬁaﬂ?m (Amae) &@’ (boss)
e e

01

the Second Administrative
Reforms Commission ?

i (1) Crisis Management

(2) Citizen-Centric
Administration

(3) Ethics in Governance

(4) Right to Information

45. How many reports were presented |
by the TFirst Administrative i
Reforms Commission ?

(1) Fifteen (2) Seventeen
(3) Twenty (4) Twelve

|
! ,
| 46. Which of the following
‘ management systems is considered
1 to be the best by Rensis Likert ?
| (1) Participative group
i (2) Consultative
| (3) Benevolent
‘I (4) Exploitative Autocratic
| 47. Who among the following is not a
! ‘boss’ in the functional
foremanship technique ?
1 (1) Disciplinarian
| (2) Controller
| (3) Instruction Card Clerk
(4) Inspector
11 L
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48, shmgEdd T HET H O
Fawerm 1809 A 5% ot
(1) =T d @) fecive &
(3) frewvggd (4) S

49. Fue § wiewe U9S YUYW IR HE
A 3T AT ?
(1) 1966 (2) 1968
(3) 1971 (4) 1964

50. T @1 sfywR AfufEm, 2005 Hi
g um # T % wehed ® e fafya
77
(1) a4 7(2) (2) =m8(1)
(3) uWI8(2) (4) 9w 7(1)

51, TR G AEd € 7
(1) 3ufreg, i, s
(2) 39Fwg, fia, sEeE
(3) %, ITFg, FErgE
(4) g, Iufywg, e
52. IAMWE] % IFIHR T b T Frem
S2, 1 S EAT 2, Forerht arerd 2
(1) 9% o, T, Ig Sa=rawq
TR
@) g?éﬁﬁf T 3 TR
|
(3) @ & S ) S, SR ot
HER () FTHA 2 |
(4) FmATHEGR |
53. TSN A @ege e § A g s
1 St T R R ?

(1) 92 1 gewan

(2) 3reRHuar

_(3) FIIEATH FRfATEN

(4) WoRTR

54. TSI 59 &A1 9d s gy feam

I T ?

(1) 2019 (2) 2020
(3) 2021 (4) 2018

+

48.

49.

50.

51.

52,

53.

The Institution of Ombudsman
was first created in 1809 in —

(1) Sweden (2) Finland
(8) Netherlands (4) Norway

When was the Lokpal Bill first
introduced in the Parliament ?

(1) 1966 (2) 1968

(3) 1971 (4) 1964

In which Section of the Right to
Information Act, 2005, exemption
from disclosure of information is
prescribed ?

(1) Section 7(2) (2) Section 8(1)
(3) Section 8(2) (4) Section 7(1)

What is meant by Prasthanatrayi ?
(1) Upanishads, Gita, Brahmanas
(2) Upanishads, Gita, Brahmasutra

(8) Vedas, Upanishads, Brahmasutra

(4) Vedas, Upanishads, Gita

According to the Upanishads, the

word ‘Tajjalan’ has been used for

‘Brahman’. Which means —

(1) Brahman is real, omnipresent,
pure consciousness and infinite.

(2) Sun, Moon etc., are
illuminated by Brahman only.

(8) Brahman is the cause of the
Creation, . Existence and
Destruction of the world.

(4) Brahman is the supreme being.

Which of the following cannot be
investigated by the Lokayukta in
Rajasthan ?

(1) Misuse of post

(2) Inaction

(3) Disciplinary action

(4) Corruption

When was the Rajasthan Jan
Soochna Portal started ?

(1) 2019 (2) 2020

(3) 2021 (4) 2018

01

55.

56.

517.

58.

59.

60.

61.

01

“HER ¥ 5@ 1 e fifda 2
59 Foram o1 wmel ot T e e 2 g

(1) #g TR (2) A T
(8) ieft g (4) e
B d .

(1) AT, TETerd a ferea

(2) HIEATE, FI4TE 9T IIH=IaE

(3) ¥91% <M, §=% §H 1 TAE
E—ﬁa. .

(4) W HRER, |1 a1 HaH

UG IR Hed FUA R

e 9T IR SR Fdesg € |

2, FWHfmmmRrRm T g
3. e I e wfa R |

~4, TR A 7 TR |
H’&&Wﬁﬁ"{:

(1) 1,293TF81(2) 2,394TA3 |
(3) 1,394TFE1(4) 1,294TAFF|
& Hiear § o7a: § § wwatea 3

(1) =M (2) FWCH

(@) @ 4 gHad
FHE o AT, TG -

1) (2) =iy qrey
(8) wmfirs (4) 3T
aftorm-FraeraTet Hfieme vew 2@ R
(1) FdgH (2) dftm H
(3) T (@) gEH

g T3t & g Ant % IFER A EE
FHYTERER ? _

1. wEgges 2. W% Ehed
3. THEHAE, 4. TEH,
H9 fa e e 1 T HEE IH
T

(1) 2,3qum4  (2) 1,37414
3) 1,2qur3 (4 1,274

55.

56.

57.

58.

The prevalence of suffering in the
world is undeniable. Which
philosophy supports this idea ?

(1) Buddhist Philosophy

(2) Socartic Philosophy

(3) Gandhian Philosophy

(4) Jain Philosophy

Jain ‘Triratna’ are :

(1) Anuvrat, Mahavrat and
Shikshavrat

(2) Sayadwada, Nayavada and
Anekantwada

(3) Right faith, Right knowledge
and Right conduct

(4) Bhagwan Mahaveer, Shraman
and Shravak

True statement about Vedas :

1. Vedas are Aanadi
Apaurusheya.

2. Shruti is the most popular
word for Vedas.

and

3. The wuniversal meaning of
Vedas is music.

4. The wuniversal meaning of
Vedas is knowledge.

Select the correct answer :
(1) 1, 2 and 3 are true.
(2) 2, 3 and 4 are true.
(3) 1, 3 and 4 are true.
(4) 1, 2 and 4 are true.

T think therefore
associated with :

(1) Bentham (2) Kant

(3) Descartes (4) Socrates
According to Socrates virtue is —

(1) One (2) Golden Mean
(3) Relative (4) Non-acquirable

Deontological ethics emphasises :
(1) duty (2) consequence
(3) renunciation (4) pleasure

Which of the following are related
according to the Ashtanga path of
Buddhist philosophy ?

1. Rightview 2. Right resolve
3. Right speech 4. Right faith
Select the correct answer using the
code given below :
(1) 2,3 and 4

(3) 1,2and 3

I am’, is

(2) 1,3 and 4
(4) 1,2and 4
E
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62, g g o v $ T A

(2) Ve 1 guTTe E
(3) g F1 T i Rig T
fagra

63, F@t i o g Wi 2, O

64. T TE  FE SR s HEiE

65. it R wiw ¥ U w

66. TS wWoH Hil AhEd wdl § Fn

B
(1) 2,334
3) 1,394

(2 1,293
4) 1,294

67. 0L HI FIRATE T HaT & —

W) SR SRR w5 s i

(2) gEard e &

(3) wrwmee e

(4) =M & 3 e e 2
68. wmmgaﬁ%

3
GER

(2) W, e 7 st
wwﬂﬁ%mﬁ',

69. dfed o 1
(1) < H0
(3) FFT

§ a‘(%az) TR~
®

1

62.

63.

64.

65.

66.

67. K

68. S

69.

Eye for an eye and tooth
tooth is supported by :
1) Retributive theory
unishment f
9) Reformative theory
. punishment _ of
(3) No theory of punishment
(4) Deterrent theory
F of
punishment

Qualitative difference in ple

is accepted by Hedonist : Rt
(1) Bentham (2) Socrates

(3) Kant (4) J.S. Mill

The most suitable concept of Goq
according to Gandhian Philosophy
is -

(1) God is neutral.

(2) God is personal.

(8) God is irrelevant.

(4) Truth is God.

The ethical principles of ‘Duty for
duty’s sake’ is associated with
(1) Kant (2) Mill
(3) Socrates (4) Descartes
What are the essential conditions
of freedom of will ?
1. Ability to act
2. Knowledge and purpose
3. The conduct of justice
4. Presence of alternatives
Choose the correct answer :
(1) 2,3and4  (2) 1,2and3
(3) 1,3and4 (4) 1,2and4
ant’s rigorism supports —
(1) Greatest goodpgf the greatest
@) Bime:
ics of pleasure

(3) Ethics of compassion
(4) Ought implies can
ocrates is not a skeptic because ~
(1) He firmly believes in God.
(2) Doubt is the means to reach

the doubtless truth.
() The  empiricist philosophy
« begins with his philosophy-

) His philosophy ends in doubt:
Not included in Vedic ‘Rinatray?’ i~
(D) Lok Rina  (2) Pitra Rina
(3) Rishi Rina (4) Dev Rina

for a

01

70.

71.

72.

73.

74.

75.

01

Joim - Ragomlime
stg vl o TE 9 ) T et e o 2

(1) S9g™q (2) =
(3) Iv\Y (4) drfemRg

o & 9 oo % form v e #
e, TEYA T HEAE R A fo o
e sl uifife afesqn Ay &
eSOl BlT £ ?

(1) 111 foremera

(2) XII firemera

(3) XIII Rremera

(4) 1I fremer@

=t & @ 3 = Sas % g9 A |y
% TR gR TS S W Ik A E ?
(1) HEHY ATH

(2) 9™ AT

(3) FTER FATAH

(4) WS ATdh

e & | e Sl e H
ATt ot ?

(1) ifergmx

(2) TammEea__

(3) IEH

(4) HTH<H -

P 1 @ form e ¥ foey Ot wan &
e T R R ?

(1) #Emrg

(2) IWW

(8) U

(4) Toa

e 1 ¥ Foag ¥ feg Hed # TH 91
o sgw el i A »
Joorg e ? 7

(€Y WW

(2) I3l Asd

(3) 7afwsd

(4) WY TS

-
w

70..

71.

72.

73.

o

"

]
o

What was the term used for the
entry into the Buddhist Sangha ?
(1) Upasampada (2) Pravrajya
(3) Uposatha (4) Patimokkha

‘Which of the following Major Rock

Edict of Ashoka emphasised on
Vachoguti, Bahushruta and

‘Samvaya which is a manifestation

of his religious tolerance policy ?
(1) III Rock Edict

(2) XII Rock Edict

(3) XIII Rock Edict

(4) II Rock Edict

Which of the following Jataka is

qot engraved on the gateways and

pillar of Sanchi Stupa ?
(1) Mahakapi Jatak
(2) Sam Jatak

(3) Vessantar Jatak
(4) Mahajanak Jatak

Who among the following composed
the play ‘Devichandraguptam’ ?

(1) Kalidas

(2) Vishakhadatta

(8) Shudraka

(4) Kamandaka

In which of the following states the
Indus Valley Civilization site “Juni
Kuran” is located ?

(1) Maharashtra

(2) Uttar Pradesh

(3) Punjab

(4) Gujarat

In which of the following Mandalas
of Rigveda “Ekam Sad Vipra
Bahudha Vadanti Agnim Yamam
.. is mentioned ?

(1) Third mandala

(2) Eighth mandala

(3) Ninth mandala

(4) First mandala

.
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76.

77.

78.

79.

80.

81.

82.

(3) 3N

frg 1 & Rrarst ¥ fpw foret &1 T G0t
1 fgmg T o 7

(1) St @) fr

(3) HieAl (4) drm

e & @ fre T 3fear Jms 7<F
foreh oft 7

(1) e e T

(2) goNEZ A4

(8) TR TEE

(4) =11 R foers

Fig HEFETOl il 3 frem § @ e
T W UGN AGEH B TAH HE
@ Heftrd S i o ?

(1) TR (2) TRA

(3) AR (4) wwaret
fegmm dfere fafems wEfRee
T T e <l TS ot ?

(1) 1928 (2) 1932

(3) 1936 (4) 1926
U S 3 21 IEge, 1943 i
HANTE NG i IR TFR HT Te
el fopa o 7

(1) Hemr (2) fomp

(3) St (4) wmE
?ﬁﬁﬁﬁwﬁ@mm&m

7

(1) &R

(2) =T

(3) =<

(4) Tg
= & @ frg g w3 e
SR Rt 37wy famam o 7
(1) wEific (2) el
(4) 3T

16

76.

77.

78.

79.

80.

81.

82.

Which of the following fort wgg
renamed by Shivaji as “Singhgarh” 9

(2) Shivner
(4) Toran

(1) Jawali
(3) Kondana

Who among the following wrote
the book “Young India” ?

(1) Lala Lajpat Rai

(2) Subhash Chandra Bose

(3) Jawaharlal Nehru

(4) Bal Gangadhar Tilak

At which of the following place the
Congress Working Committee
approved the resolution related to
withdrawal of the Non-Cooperation
Movement ?

(1) Gorakhpur
(3) Nagpur

(2) Champaran
(4) Bardoli

When was the Hindustan Socialist
Republican Association established ?
(1) 1928 (2) 1932

(3) 1936 (4) 1926

Where did Subhash Chandra Bose
establish the Provisional
government of free India on 21
October, 1943 ?

(1) Malaya (2) Singapore
(3) Germany (4) Japan

Who among the following was the
Guru of Padmavati and Surseer ?
(1) Kabir

(2) Vallabhacharya

(3) Ramanand

(4) Dadu

Which of the following Mughal
emperor started the Altamgha
Jagir ?

(1) Jahangir
(3) Aurangzeb

(2) Shahjahan
(4) Akbar
01

84.

85.

01

HC:
() AD,C,B (2 B,C,AD
(3) A,B,C,D (4) A, C,B,D
-1 1 gA-11 & gafer $fm @on
= Ry U e Fw@m W E TR
-
Tt -1 gt -1
(il % arfaem) (area®)
A FouFmatewE i 6 IR
(1890) e,
B. T afEem i s
(1891) Eeni]
C. TARER ARG i g
(1892) - et
D. deRaRRTE v, RieEme
(1893) g
T oy s o ¥
(H i w1
2 v 1u iom
@ i 1 i v
4 iv 1 1 m
frefifies 31 SEAEER FERE
CYECR
A, ST i e
B. saEd 1 TR
C. wrhers I agH
D. @R TS
KT
AB (@ BADC
8 g:g:?\.C 4 ACBD

e ———— T e

83.

17

84.

Arrange the following events of

French Revolution in chronological

order :

A. The opening of the Estates-
General Session

B. Fall of Bastille

C. Tennis Court Oath

D. Declaration of the rights of
Man and of the Citizen

Codes :

(1) A,D,C,B (2 B,C,A/D

(3) AB,C,D () ACBD

Match List-I with List-II and

select the correct answer using the

code given below :

List-I List-II
(Session of Congress) (President)
A. Calcutta Session i. P. Anand

(1890) Charlu
B. Nagpur Session ii. W.C.
(1891) Bannerjee
C. Allahabad iii. Dadabhai
Session (1892) Naoroji
D. Lahore Session iv.Pherozeshah
(1893) Mehta
Codes :
A B C D
() i 1 iv i
2) iv 1 i il
3) Wi 1 i iv
4) iv i i
Arrange the following in

chronological order :

A. Battle of Brandywine
B. Battle of Bunker Hill
C. Battle of Yorktown
D. Battle of Saratoga

Codes:
(1) D,C,A,B 2 B.ADZC
(3) B,D,A,C 4) A C.B

+
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esz
86. = d 3 frgs e A § 0%
g foral o 7
(1) FTCHI. T9EER g
(2) wE.at S i
(3) .31, Tt
(4) W@ T

8§7. IfaT 77 fyTg % we 90° FT F=HE
2 | 9§ THeT W E9E % 12:00 §9 &
a1 58 ey 7 foreg 1w T g 7

(1) 5:30 @& (2) 6:00 ITH
(3) 5:30 W&  (4) 6:00qHTE
88. oA & Ffafed ¥ § frg v
2011 ¥ waiferes fefmamra =1 7
1 I @) &
(3) TR (4) IFE=
89. UM VAt # Trm 9¥ fae wewETR &
FTEATT GAH T8 ot ?
(1) 2001 (2) 2005
(3) 2004 (4) 2002

90. = H § fored =9 § o & @ e
g 7
(1) &=
(2) wfeq
(3) grewhr
(4) Wferra STfiht
91. = 7 & yra B sr=em ¥
T T sl e anee
QTR &gl wifig oft 7
(1) sfern
(2) FrEwt,
(3) &ar
(4) dHIH

86. Who among the following wrote
the book named “Eighteen Fifty
Seven” ?

(1) R.C.Majumdar
(2) S.B. Chaudhuri
(3) V.D. Savarkar

(4) S.N. Sen

: 87. Difference between Greenwich and

Thimpu is 90°. Time at Greenwich

is 12:00 noon. What will be the time
- at Thimpu during same period ?
(1) 5:30 a.m. (2) 6:00 p.m.
~ (3) 5:30pm.  (4) 6:00a.m.

88. Among the following which district
of Rajasthan had highest sex-ratio
~ in 20117
~7 (1) Churu (2) Dausa
- (3) Ganganagar (4) Alwar

89. In which year the notorious
: Tsunami occurred in Indian Ocean
in present century ?

(1) 2001 (2) 2005
~(3) 2004 (4) 2002
90:: Who among the following

*% organised the “Red Army” in
-, Russia ?
~ (1) Lenin
© (2) Stalin
(3) Trotsky

(4) Feliks Dzerzhinsky

91. Which of the following was the
longest parallel  government
- established during Quit India
o Movement ?

- (1) Ballia
7 (2) Bardoli
(3) Satara
(4) Tamluk

01

92.

93.

94.

95.

96.

97.

01,

aﬁmmmaﬁm%:

(1) =gus @),
(3) == ) :‘;{{
mﬁﬂmmwﬁag}ﬂg
(1) &nmeeH.
(2) "9amHES §
(3) TeyHEa i
(4) FHTTHEaH
‘ﬁiﬁ'ﬂﬁ’wqﬁ‘mﬁm%:
(1) seeftd @ FH
(3) Fwnd (@) e
TRIIAUES &7 1 38 3R Ft gesi Wy
T I B
(1) wrer, (2) ®R
@) MFaE (9 bgW
FefrRea i s T gm Tom ? ¢
) ﬁr@ﬁﬁm Foraeft saddt qen
Tl fuee %
e HRHT &
2 R — AU U RIS
ST & 9 Weh A &
(3) e - TR T SR
A IS & A
TRl 85
() ®E - fereet s e
argaaa & TE HHAT &
{ o R} ¥ I & F
ﬁaﬁmmmm?
(1) st
(2) et
(3) %
(4) e IH

19

93. Maximum weather

92. Manchester of South India is :

(1) Madurai
(3) Chennai

(2) Coimbatore
(4) Bengaluru

phenomena
occurs in —

(1) Troposhere

(2) Stratosphere

(3) Mesosphere

(4) Ionosphere

94, ‘Sirocco’ local winds are found in

(2) Japan
(4) Canada

(1) It.aly
(3) California

95. The cold and dark spots in the

photosphere zone are called
(1) Photons (2) Corona
(3) Sunspots (4) Faculae

96. Which of the following is an
incorrect pair ? _
(1) Mohorovicic — Transition
Discontinuity zone between
lower crust
and upper
mantle.
(2) Repiti — Transition
Discontinuity zone between
mantle and
core. )
(3) Gutenberg — Transition
' Discontinuity zone between
outer and
inner core.
(4) Conard — Transition
Discontinuity zone between

Sial and Sima.

97. Who propounded the contraction
theory related to origin of
continents and oceans ?

(1) Daly

(2) Jolly

(3) Jaffrey

(4) Lothian Green

+

20221221 1S:33



https://t.me/rsgonline

98. I — Rghy wearaeh et SedIRaT
FA g ?
() T A
T
(2) ¥, gt o S A ueiy
feufy
() o, gt 7o == & W @
formamer /
(4) o oo s e W R

99. Wra # frafafed geet & & w9 @
Faifires g o o st & 7
(1) A '
2 &=
(8) wieiig
(4) I 9 Teeefia -

100. fr=rforfaa & & # ot werarr gros

H1 R I T A AR R 7

(1) SHTER — F1Y — ST — wiapeive

(2) FH — STofieT — Hiebeive — ek

(3) STSIeT — Hishelvg — AFTER —
(1) v — st — 378 — el II
101. 391 Sffsff % forhrer & ooy F by @ |
FUTHTR 7 |
(1 ﬁmmﬁmw@?ﬁ,’
21 . |
(2 amﬁﬁ?mmﬁtﬁmﬁ’l

g1

(8) 3 M et Aot W ) ,’
TH< A | ’

(4) F20°-30°F WA A TRE | |

L d 20

98. What does the term ‘Syzygy’ refer

to ?

(1) Linear position of Earth and
Moon

(2) Perpendicular position of Sun,
Earth and Moon

(3) Linear position of Sun, Earth
and Moon

(4) Linear position of Sun and
Moon

99. Which of the following soils cover
maximum area in India ?
(1) Laterite
(2) Red
(3) Alluvial
(4) Arid and desert

100. Which of the following ocean
currents are arranged from north
to south ?

(1) Labrador — Canary — Brazil -
Falkland
(2) Canary — Brazil — Falkland —

Labrador

(3) Brazil — Falkland — Labrador —
Canary

(4) Falkland — Brazil — Canary —
Labrador

101. Which of the following statement
is correct with respect to the
development of Coral Polyps ?

(1) They require more of
sediments.

(2) They flourish in non-saline
fresh water.

(3) They prefer more sea
disturbances.

(4) They flourish in 20° — 30° C
temperatures,

01

JOIN TELE (1RAM cw ANNAL

102. 9T <t oy 2011 %
gﬁm%mmm

(a) Tty

(b) 3T wey

(c) -mTetvg

(d) forsirm

1) () ®) @) (€ @ (©) (@) (b) (a)
@) b)) @) (c) (4) (b (a) (© (<a1)

103. ¥ 1992 # &9z aitlm anfe wea
e (0.ECF) vmm zm smow
I JET A w1 3w
9dTU

() mmmaﬁm—mw
(b) wFse %1 Frator 0 et Hamer w1

TR HTT |
(0 W #1 Fe@ U1 ey @ =
[
(d) Iurs aftfd ot »
(1) (b) 7 (c) (2) (a) T ()
(3) (d). (4) (a) 741 (b)
104. WA i Frefafad afedi 1 335 sgm
W © gaferd HIfe wd §e F orem
e I 1 T HIf
Th-T Th-11
et IGT e
(@) (a) FglTard
(i) e ) IHHEHICH
(i) R/ () wome
(v) aH (d) ==HTE

Re: o
(@) (i) (i) (iv)
1 @© @ @ O
2 @ (@ @ O
@ @ @ O ©
@4 ® @ @@ © .
105, WRg § & & @ § aeE (FE)

Frferforam wm] g3 ?
(1) 1972 (2) 2004
(3) 1973 (4) 1976 -

01

102. According to Census of India 2011
arrange the states density-wise in
ascending order :

(a) Sikkim

(b) Arunachal Pradesh

(¢) Nagaland

(d) Mizoram

1) @ ®) (@@ @ (@ b) @
@) B @ (@@ @ O () ()

103. The aim of ‘Aravalli Afforestation
Project’ initiated by O.E.C.F.
(Overseas Economic Cooperation
Fund) Japan in the year 1992 was :
(a) Restoration of forests in
Aravallis.

(b) Water resource conservation
by constructing anicuts.

(¢) Control land erosion and
illegal mining.

(d) All points mentioned above.

(1) (b)and (c)  (2) (a) and (c)

(3) (@ (4) (2) and (b)

104. Match the given rivers of India
with their place of origin and
select the correct answer using the
code given below :

List-I List-II
Rivers Place of Origin
(i) Betwa (a) Nandidurg hills

(ii) Godavari (b) Amarkantak

(iii) Pennar/  (c) Bhopal
Pinakini
(iv) Son (d) Trayambak
village
Codes :

() @) (i) (@Gv)
1) (@ (@ (@ O
2 (© (@ @ ®)
3) (@ (@ ® (©
@ ® (& @ (@©
105. In  which year the Wildlife
(Protection) Act in India came into
force ?
(1) 1972 (2) 2004
(3) 1973 (4) 1976

21 &
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106. @e" @rm W fage T 3AR
(.. F 3 oft < S 2
(1) T I
(2) wHe TEE I
@) Feftam
(4) =afFTda I

107. 37 1 Frar= iy s a8
(1) F I / e A (C/Y)
(2) 30 # qftads / s § aRed
&)
AY
(3) 3 A qftered / s=d § qREdd
&)
AS
(4) F w0 / T 9T (S/C)
108. 3 = H I A" 1 F I
E DL Tt
(1) o= foemtem a5
(2) THETTg x
(3) forftee sg x_
(4) T ATEIRATHS TR
109. 37 91 fRR w0 §¢ T a5 1 Fima
L % aftorm =6 = fpar ST @
(1) @ & e~
(2) =it 7S w3 foran
(3) =it 78 wr #
(4) wmigfg ,

110. 9@T1¢ U3 USWEd @ &5 36% R1C
g€
(1) Feurge (2) TR¥R
(3) e (4) TTg
111. Frerferfen & & 3 @ wda <4 30
SRS TN & wrafRa gei 2 7
(1) fauama (2) AMTIETE ~
(3) ferereft (4) s =

|
.J
|
|
l
|
|
|
|
|
J
|
|
|

22

106. The Net National Product (NNP)
at factor cost is also known as :
(1) National Income
(2) Gross National Product
(8) Private Income
(4) Personal Income

107. The Marginal Propensity to
Consume is equal to :
(1) Total consumption / Total income

(ChY)

(2) Change in consumption /
Change i ncome (£
ange in income (<

(3) Change in consumption /

Change in saving (%J
(4) Total saving / Total consumption
(S/C)

108. If the income elasticity of demand
is greater than 1 and positive, then
commodity is —

(1) aluxury good
(2) an inferior good
(3) a Giffen good
(4) a necessity good

109. A fall in the price of a commodity,
holding everything else constant,
results in and is referred to as :

(1) a decrease in demand.
(2) an extension in the quantity

demanded.
(3) a decrease in the quantity
demanded.
(4) an increase in demand.
110. Sarwar and Rajmahal mining
areas are famous for :
(1) Calcite (2) Garnet

(4) Emerald

111. Which of the following mountain
peak is not related to Northern
Aravalli region ?
(1) Sirawas
(3) Bilali

(3) Magnesite

(2) Nagpahar
(4) Bairath
01

112.

113.

114.

115,

116.

117.

01

e Y argeen

N TCRATT a5 T g7l

(1) =2 W@ & w1 § aferss

(2) o5 W@ % 31 @ 3y

(3) 2 X1 ¥ 7w & sy o 5 2
HATE |

(4) =9 11 % 1 % Ty

= % & forg wrey @ safepa sracie
A o ferererl &1 i s g 2 2
(1) =EFehT

(2) FHR ey

(3) TR e i
s A%

fu ™ wwl % wyE & wew @
I :
2,6,6,84,2709
a 7 @) 4
3) 6 4) 2
T 5 & form wrem & = el 1 ywE
FFAE@ATR 7
(1) T HTe
(2) g
(3) CH HTed
(4) wHRR AT
g % @ o8 & Fr | ofd 9% &
fqadrTdigm 2 ?
(1) fd &) ¢ 7w H Frwa
(2) oG
(3) ah®
(4) YA 1 HIAA
2 g3 (xﬂ'Y)Eﬁf@ﬁa"gW
el 2 a1 e R @ W o aEH F
Ty win 6 e A R

(1) g @
®) (4) e

112. At equilibrium, the slope of
indifference curve is —
(1) greater than the slope of
budget line.
(2) smaller than the slope of
budget line.

(3) may be larger or smaller than
the slope of budget line.

(4) equal to the slope of budget
line.

113. From which of the following
average, the sum of deviations of
individual observations is zero ?

(1) Median

(2) Arithmetic mean
(3) Geometric mean
(4) Mode

114. Find the median from the given set
of numbers: 2, 6,6,8,4,2,7,9
1 7 (2) 4
(3) 6 4) 2

| 115. In which of the following average,
{ the effect of extreme value is the
least ?

(1) Geometric mean

(2) Mode

(3) Harmonic mean

(4) Arithmetic mean

116. Which of the following does not
cause a shift of supply curve of a
good ?

(1) Price of the good supplied
(2) Goods and Service Tax
(3) Technology

(4) Price of input

117. If the amount of both commodities
(x and y) increase or decrease
when the price of one changes, the
cross elasticity of demand between

them is :
(1) positive (2) zero
(3) one (4) negative
23 L
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118. 5 @nee Frdi # gfg & Hro Hwal d
g gt & 78 @1 o1
(1) e S e whifa
(2 =&
(3) vEhife (feweiem)
(4) win g Hiwa whife

119. Fr= & & 9 @1 397 Wil Ao §F %
afa grg P s (Rfteh) 782 ¢
(1) S5
(2) g TR R
(3) g HINTIE
(4) 39 ht Irferman
120. Freian 1 gsam’ I STEuRoT wEEfRd
2
(1) w4
(2) g R
(3) wieuw
(4) et T

121. F § @ & @1 wgommft feka
a1 1 T T T8 8 7
(1) forem
(2) wfa =i amr
(3) =R
(4) @ea
122. Fo Wit 3R F 79 & HET A=< H
W'FTTETTHT%:
(1) sFsea
(2) TSI T
(3) e =TT
(4) sfira erer
123. = 1§ @ 5 fomge o0 & w9 8 90
AR ?
(1) M,
3 M,

@) M,
) M,

24

118.

119.

120.

121.

122,

123.

due to
increase in factor prices it is called :
(1) Cost push inflation

(2) Depression

(8) Deflation

(4) Demand pull inflation

When price increases

Which of the following measure is
among the selective credit control
methods of RBI ?

(1) Bank rate

(2) Open market operations

(8) Cash Reserve Ratio

(4) Credit ceiling

The concept of Vicious Circle of
Poverty’ is related to -

(1) Nurkse

(2) Adam Smith
(8) Malthus
(4) Karl Marx

Which one of the following is not a
component of the multi-
dimensional poverty index ?

(1) Education

(2) Per Capita Income

(3) Standard of living

(4) Health

The difference between total
receipts and total expenditure is
known as :

(1) Budget deficit

(2) Fiscal deficit

(3) Revenue deficit

(4) Capital deficit

Which of the following is known as
broad money ?
(1) M,

(3) M,

@ M,
4 M,
01

L

125.

126.

127,

01

(3) SFEHH~Frepram gy 3 Twreerrer
(4) =ft o=t & g

T faspfodt 1 wamfe smaw
T A FW F e w97 @ Rgw
EE i

(1) aTee fede

(2) =ed 3. afem

(3) IR e

(4) Tes AHIA

e 4 @ #F W g% Ame faem
g h AT I H A€ ferEn
SR ?

(1) frgqg=

(2) e s oo TP 318

3) Wﬁmm%mrﬂi

(4) <9 & GHA S FeAmT

frofifies § @ @9 @ T Aifa wEm
U YERm R gaq fEw @
(w2 f.) gEss 2021 T g FW
T ?

(1) &femn

(2) femmare wed

(8) T
(4)

25

124.

125.

126.

. Which of the

Who among the following is not

part of the Governing Council of

NITI Aayog ?

(1) Chief Minister of Delhi

(2) Governors of states

(3) Lieutenant Governor of
Andaman & Nicobar Island

(4) Chief Ministers of all states

Which scholar recommended the
study of political distortions on
psychological basis ?

(1) Walter Lippmann

(2) Charles E. Merriam

(3) Arthur Bentley

(4) Harold Lasswell

Which of the following indicator is

not used to calculate Human

Development Index ?

(1) Infant mortality rate

(2) Gross national income per
capita

(3) Mean years of schooling

(4) Life Expectancy at birth

following state
remained on top in the Sustainable
Development Goals (SDG) India
Index 2021 vreleased by NITI
Aayog ?

(1) Haryana

(2) Himachal Pradesh

(3) Gujarat

(4) Kerala

B
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128. fra THifaea =1 ~fae gare & forg
Tl & IR e H AT
& w9 H It fFan g ?
(1) T 3R
(2) sfas $en
(3) 3T WL
(4) 3. BRKX

129. “1937 waTedt % Ifem o 3R 204
AT % IYH ek H W TSt
g - TeHifas s & fogg o ¢
gf¥ ST 8 1
I e & e § fFrifra 4 s
TAR 7
(1) Tl FeFaiad &1 e,

FayTe 3R G g % 08
grafas @ Furd gt & @

FAT |

(2) MUl HT T F FqEIEF e
3R mifertes o3 %1 AT wE
TS |

(3) T & 3redianaAl w1 e ol w5
FIEW HEAT T Fifh T

(2) TETeHT iEft 7
(3) TATEAT HEE HT
(4) I H

+* 26

fergra Wt wivwal & woeh & 1 T
& Fom § 3 oht wHfa B
W:maﬁé‘ﬁl i
(4) 991 9 "mifas gUE &l uw |
ufskar & &9 4 3@ | li
130. “Torhfy 3 7 wg K Gee 6 @@ ,'
THS W1 8 3N 368 A & fam 3= |
Y TR TE R " TR R ~ i
(1) et arad a1 |
{
|
l

| 128. Who described Political Science as

“the study of the authoritative
allocation of values for the society” ?
(1) Robert Dahl,

(2) David Easton

(3) Ernest Barker

(4) E.M. Foster

129. “In the last decade of the 19th
century and the first decade of the
twentieth  century, traditional
political science disclaims the
institutional and legalist tradition
and adopts a.mew approach to
socio-political life.”

Which of the“following is wrong

ﬁwith respect .. to the above
statement ? -

(1) Political scholars to discover
the real or actual power
behind legal, constitutional
and institutional authority.

(2) The researcher will have to
study the formal structure and
constitutional machinery of
the state. |-

(3) The scholars of politics will
have to follow a new path

because political theory has
come in wcontact with such
forces that in course of time
they  will fundamentally
modify its nature.

(4) Society and societal groups as
a process.

130. Who said, “Politics envelops us like
the coils of a snake and there is no
other way out but to wrestle with
it” ? @

(1) Karl Marx

(2) Mahatma Gandhi

(3) Jawaharlal Nehru

(4) Plato

01

131%%%3%@%

TSR T 5 wfe 3 Ao e

(1) vhe =7é
(2) warg =

(3) Wi =7
(4) o =ré

132.@%%3}%%@@
fAmE.
1. wmartsreh fame e e 3 fordrom
9. IehTEie A § ufogel
|, AT T g
Frafefaa 3 @ 5 @1 = frerer 3@
Ifgd i w1 ogElfs s9gw
sffEsme s
(1) ¥ F T T
(2) Hae
(3) I, TWH
(4) e 3

133. fr=forfiaa & % @1 0 5oz wwf
THR R ?
(1) fren
(2) EaRtCIEIN
(3) ==
(4) T

134, TEW 3 ¥ AT ¥F F P A T
s 35 for ey i STt B 7
(1) =it
(2) weI
(3), reafees yeae T
(4) e femifén

01

1
1
l
!

| 131. A chart which represents the

growth and development of an
empire, a dynasty and historical
facts of this nature is called :

(1) Genealogy charts

(2) Flow charts

(3) Tabulation charts

(4) Classification charts

132. Below are given some qualities of a

social science teacher :

A. An expert in methodology of
teaching social science.

B. Well-equipped in academic
qualification.

C. Well-equipped in
qualities.

Which of the following given option

best represents above stated

qualities ?

(1) Only ‘A’ &‘C

(2) Only ‘B’

human

B i R e

3 ‘A,B&C
(4) Only ‘A
133. Which of the following is kind of

visual aids ?

(1) Film strips

(2) Tape recordings

(3) Motion pictures

(4) Television

134, Which of the following elements of
Edgar Dale’s cone of experience is
most effective for learning ?

(1) Motion Pictures
(2) Demonstration
(3) Real Direct Experience

(4) Radio Recording
27 +*
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135, Frefofiad ¥ @ ®5 §1, 98 J9AT 74
FaTaT ITTTH BT HYH T & 7
(1) o1 TS HEy
(2) aH=fE
(3) @ wT
(4) ~regefiepa

136, Frafafad & @ =1 &t 38 a9 £
TR 7
o) m%‘ e § Rfm @ @

(2) ¥ A F aiw A Fep &
g 1 T o ST 2

(3) ST AT § “Tveror § favdryor
% fagra =1 wiem frar s 2

) Eﬁmﬁmaﬁm?ﬁ
3 d IR AT a2 |

137.;;}'{;?@%& T X smarig
?
(1) et s
(2) R T
(3) WY AT
(4) TTeE TR
138. T8 w7 % ‘wigaEm  HaR
(37eTaeR) % g1y & 98 Gre @ el e
a8 v (femeff) =+ a9y amed
(W) %mam:‘fi{%u‘r(ﬁ—of)ﬁ

135. Which of the following is not the
steps of Herbertian Approach of
lesson planning ?

(1) Comparison and Association
(2) Generalisation

(3) Exploration

(4) Presentation

136. Which of the following is not the
characteristics of Unit Plan ?

(1) In unit plan, the content of
lessons arranged in totality.

(2) In unit plan principle of “Part
to Whole” followed.

(3 In unit plan principle of
“Synthesis to Analysis”
followed.

(4) In unit plan objectives are
prepared on basis of totality.

137. Unit plan is based on which of the
psychology ?
(1) Clinical Psychology
(2) Counselling Psychology
(3) General Psychology
(4) Gestalt Psychology

138. Who stated that “The curriculum
is the tool in the hands of the
artist (the teacher) to mould his
material (the pupil) -according to

TATH |” 7 | his ideal (objective) in his studio
(1) 9. ﬂgm | (the school) ?
(2) uHEs | (1) P. Samuel
(3) aﬁﬂﬁ:ﬁm:r ’ (2) Thorndike -
(4) i (3) Benjamin Franklin
- { (4) Cunningham
. TLHLTF. 2005 ¥ gaig gl g i 139. Who was the Chairman of Position
% Rreron =5 fom . oy v et s | paper of National focus group for
%uﬁa@wm%mﬁwﬁ? I Social Science teaching related to
(1) S T | NCF 2005 ?
(2) T R, Ty | (D Pt 08 R
. J.S. Rajpu
(3) TTHE FH FHAR I’ (3) Prof. Krishn;pKumar
(4) SHET FIATA (4) Prof. Yashpal
o 28 01

W) i % s s
ST % fi70 ety |

2) Tt % e fem w
m%ﬁiq‘sq'qﬁ:rﬁ|

(4) frafi & wor deft oo v
Al T F ey Fwaft |

141. frsafa whew ¥g e w Pl ¥ R
Wﬁﬁﬁ%m*@%;
3. IEWE BT IF 9N
9. fovesg =7 3% un
. W % R 1 37 UK
T IS W 3 WR
I T H IR T Fieh I9g
Taehed &1 99 hifv ;
(1) 961 ‘T T ‘T HEES
(2) 99 T TG T IAEF
(8) ‘¥, T, W T T AEETH
(4) S I @ T AEAEH

142. ferer 3 gUoHE! & SHEEwTd TRad &
gray o T&d % Heho a1 3! AT
A 1 3T 1 HET AR : ‘
(1) wden

140. Which of the following is not the
characteristics of essay type test ?

(1) Useful for knowing expression
skill of the students.

(2) Useful for knowing creative
thoughts of the students.

(3) Objectivity in  evaluation
possible.

(4) Useful for knowing language
style & writing skill of
students

141, Elements essential for preparing
blue print of achievement test are
given below :

A. Weightage to objectives

B. Weightage to content

C. Weightage to type of question
D. Weightage to difficulty level
Select the best suitable option by
using above mentioned elements :
(1) Only ‘B’ & ‘C’ essential

(2) Only ‘B’ & ‘D’ essential

(3) ‘A, ‘B, ‘C’ & ‘D’ essential

(4) Only ‘A’ & ‘B’ essential

142. A process of gathering and
interpreting evidence on changes
in the behaviour of students in
school is known as :

(1) Examination

@) Fam
3) e
(4) T
143, e # & F1 @ T wem &
AT ?
(1) SITE &
(2) I T § A T
3) 7T 31 A I
(4) i B TR

01

(2) Controlling
‘ (3) Direction
(4) Evaluation

143. Which of the following is not the
advantage of objective test ?
(1) Administration easy

(2) Approximation possible in
| selecting answer
(3) Minimum use of language
‘ (4) Objectivity of scoring
29 +
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144, @ G A ¥ S Ha e A
1z fasrdl, GfieRi, wewR M
ST ¥ R § el §, = % o
e & diedve =1 e & &8 |
77 1 21 Tl % g gy I @ 8 7
(1) g o wd v
(22w fasr U wferd et
(3) wHIf fam o e
(4) T fagH @ fagm
145, Tt fosm 1 fafier wmaet & g
TH-GH U T HEAT 8
(1) 5g9afa gy
(2) THUIES HeamY
(3) ThiE! TRy
(4) TR Hearary
146, ToFe g1 &5 “wmforp fomm we qen
35! AT 3 siaes Srerere & wiy
F 91 Tt vfafrnat @ gEtRe g,
T AT gl # seEd w
gI"?
(1) o=
(2) wdt Hime
(3) =m3Fm wvg s
(4) ¥, . argehfera
147. F=fafes 4 & =9 o1 gy fagm
v & “sraeie gesh w1 ARG T2
g7
(1) 989 &
(2) ISR T
(3) =!I HT frefo
(4) =R BT

———— e e

L d 30

}
~L_

144. A social science teacher teaches in
the classroom about lives of great
painters, sculptors, musicians ete.,
during explanation aesthetic sense
may develop in the child. This type
of correlation occurred between
which two subjects ?

(1) Social Science and Mathematics
(2) Social Science and Fine Arts
(3) Social Science and Geography
(4) Social Science and Science

145, Correlation  between  different
branches of Social Science is
known as —

(1) Multilateral correlation
(2) Uni-lateral correlation

(3) Curvilinear correlation
(4) Co-lateral correlation

146. Who stated that “The social
sciences are concerned with man
and his interaction with his social
and physical environment, they
deal with human relationships” ?
(1) Wesley
(2) M.P. Moffat
(3) Bining and Bining
(4) Juhn, V. Michaelis

147, Which of the following is the
behavioural term of

‘understanding’ objective in social
science teaching ?

(1) To identify

(2) To recall

(3) Deciding the components

(4) To differentiate

01

14S.Wﬁ@ﬁ,mmwﬁm
?7 pill o

< for g
2 'Eﬁ?iﬂfmﬁ(
(3) ¥ wE T
(4) weuy (Hﬂaﬁm)aﬁuav

149, T B W wa % @ w |
Freaferd i R w2

TS St o1 ST

. ST b =

afeRfa &

ST 1 ffae

ST 1 R

ﬁmﬁfﬁﬁﬁéaﬁq%ﬁwﬁm%

T 1 e AT FH R 2

1) BoC->D->E->A

2 E-B->C->D-A

@3 C>B>A—-E->D

4 A-B—>C-Ho>D-E

150. fr=fafea § @ =9 @ fase “wERied

LAl

| 148. Which of the following is limitation

of field trip ?

(1) Useful for some selected topics
of Social Science

(2) Aesthetic sense

(3) Interest & Curiosity

(4) Real experiences

149. Steps of completing the project in
jumbled order are given below :
A. Planning of the project

Choosing the project

Providing a situation

Judging the project

Executing the project

Which of the following option has

correct logical order regarding

L

steps of project ?
1) B>C->D->E—->A
2 E-B->C->D—-A
B3 C->B—>A->E->D
4 A-B->C—->D->E
150. Which of the following option

vt fife” & g &1 @@ aes

FAR?

(1) A TR > B - T
— T =T

) AT TH o -
ﬁ-m‘pamq—)w

(S)WW"’W—’W

AT — T

(4)W_,ﬁqﬁm—>m|

T >

shows correct logical order of steps

followed in “socialized recitation

method” ?

(1) Planning — Conducting —
Evaluating — Reporting

(2) Planning — Reporting —
Conducting — Evaluating

(3) Planning — Conducting —
Reporting — Evaluating

(4) Conducting — Reporting —

| Planning — Evaluating

|
|
|
|
|
!
|
|
|
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